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(3 Hours) Total Marks: 80

N.B: (1) Question No.1 is Compulsory.
(2) Attempt any three questions from remaining.
~ (3) Figures to the right indicate full marks.
. (4)Assume Suitable data if required.

1. (a) Obtain Transmission parameters in terms of ‘Z’ Parameter.
(b) If11=2 A, Find V.

(¢) Obtain s-domain (Laplace transform) equivalent circuitsd

capacitor with initial conditions. = N

(d) Check whether the polynomial is Hurwitz or néf\
F(s) =s* +S° +4s® +25+3

(e)List the types of damping in a series R-1L-

each damping,

X Turn Over
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(c)Test whether F(S) = 2844-283 +] 1_§?j;i_—3128f{~4_ is a positive real function. (0)
$*4583498%4+11846

3. (a) Obtain Thevenin's equivalent Circuit:- A T (10)
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Hence find current Flowing throu gh 10 Q Load. -

(10)

acitor.

4, (a)Find Ic and Vc for >0 a (10)
2.0 .5
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(b) Realise e following function in Foster- I and Foster-1IT form. (10}
) = (S+1)(S+3)
(S+2)(S+4)
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5. (a) Find driving pomt inﬁpc:dance Vi for the network shown in figure. (10)
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b (b) Find 1 (1) 12(1) and i3(t) at t=0"
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6. (a)Find th@tel‘istic impedance, cut off frequency and pass band for the network

shown: (6)
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~ (b)For given circuit , the switch is closed at t=0.Find V(1) for 0 s,
£=0 icoSL-

{1~

(c) The network shown in Figure reaches a steady state with switch at gositiogyl. At t=0, the
switch is changed from the position 1 to the position 2, Find the val& 1.¥3di d4  at
t=g* - - ' dt  dt’
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